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DIFFERENTIAL PRESSURE (PSIG)
STARTING TORQUE 90 IN/LB
RPM |NPSHR (FT) SEE GENERAL INSTRUCTIONS
200 9 CURVE BASED ON 70°F WATER
— 70 DUROMETER --50 DUROMETER
400 1.7 wp < LTQ) (RPM)
600 2.6 T 63025
800 3.4
1000 4.8
1200 6.7

120

100

80

60

40

20

TORQUE (IN/LB)

4.19

4.159

—+.127

—4-.095

—4.063

—4.031

HP /100 RPM

1)

2)

TABLE A ABRASIVE CONDITIONS MAX. PRESSURE & SPEED
ABRASION |NONE [LIGHT [MEDIUM |HEAVY
MAX. PRESS | 75 60 35 15

MAX. SPEED| 1200 | 900 600 300

CPS ]100 {1000 | 2500 | 5000 {10,000 |50,000 | 100,000 | 150,000 | 200,000
TQ | 9 |27 | & 57 78 162 222 270 308
RPM 1200|1200 1200 | 600 | 320 80 40 30 25

TABLE C WATER BASE SLURRY TORQUE ADDITIVE (IN/LB)

NOTE: MAXIMUM PARTICLE SIZE .3 INCH
SIZE FINE MEDIUM COARSE
% .01" TO .04" | .04" TO .08” |.08" & LARGER
10 L 63 98
30 132 188 294
50 220 314 490
TABLE D STARTING TORQUE MULTIPLIERS (IN/LB) FOR TEMPERATURE
°F
i, - 70 1100 [125]150 {175 | 200|230 250 275|300 | 350
STD (1012 [1.3[1.6]1.8
SGL U/S 11 11.3[16[1.8 2.0
DBL U/S 1.0]11 [1.3[1.6 [1.8

DETERMINE WHICH TABLE (B OR C) APPLIES TO YOUR FLUID AND
FIND THE APPROPRIATE CHARACTERISTICS. DETERMINE THE
TORQUE ADDITIVE AND ADD IT TO THE TORQUE FOUND FOR WATER
ON THE CURVE. IF YOUR FLUID IS A COMBINATION OF BOTH SLURRY
AND VISCOUS MATERIAL. DETERMINE THE APPROPRIATE TORQUE
ADDITIVE FROM BOTH TABLES AND ONLY USE THE GREATER OF
THE TWO TO ADD TO THE TORQUE FOUND FOR WATER.,

FIND THE FACTOR FROM TABLE D THAT CORRESPONDS TO THE
TEMPERATURE OF YOUR FLUID AND STYLE OF ROTOR. MULTIPLY
THE STARTING TORQUE SHOWN BY THIS FACTOR TO OBTAIN THE
CORRECTED STARTING TORQUE.

COMPARE THE RESULTS FROM STEPS 1 AND 2, THE REQUIRED
TORQUE WILL BE THE GREATER OF THE TwO.

71X02

TABLE B APPARENT VISCOSITY - TORQUE ADDITIVE (IN/LB) & MAX. SPEECL
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DIFFERENTIAL PRESSURE (PSIG)
STARTING TORQUE 120 IN/LB
RPM | NPSHR (FT) SEE GENERAL INSTRUCTIONS
200 9 CURVE BASED ON 70°F WATER
— 70 DUROMETER --50 DUROMETER
400 1.7 np = TQ) (RPM)
600 2.6 T 63025
800 3.4
1000 4.8
1200 6.7

TORQUE (IN/LB)

q.476

—.397

—.317

—<.238

—.159

—-.079

HP /100 RPM

1)

2)

TABLE A ABRASIVE CONDITIONS MAX. PRESSURE & SPEED
ABRASION |NONE [LIGHT |MEDIUM |HEAVY
MAX. PRESS | 150 120 70 30

MAX. SPEED| 1200 | 900 600 300

TABLE B APPARENT VISCOSITY - TORQUE ADDITIVE (IN/LB) & MAX. SPEEL
CPS [100 [1000 | 2500 | 5000 {10,000 {50,000 | 100,000 | 150,000 | 200,000
TQ [19 [ 54 | 83 | 14 | 156 324 L44 540 616
RPM 12001200 {1200 { 600 | 320 80 40 30 25

TABLE C WATER BASE SLURRY TORQUE ADDITIVE (IN/LB)

NOTE: MAXIMUM PARTICLE SIZE .3 INCH
SIZE FINE MEDIUM COARSE
% .01" TO .04" | .04" TO .08” |.08" & LARGER
10 58 83 129
30 174 249 388
50 290 414 647
TABLE D STARTING TORQUE MULTIPLIERS (IN/LB) FOR TEMPERATURE
°F
ROTOR 70 100 [125 {150 |175 | 200|230 250275300 | 350
STD  [1.0[11]13]16]1.8
SGL U/S 1101316 [1.8(2.0
DBL U/S 1.0]11[1.3]1.6 [1.8

DETERMINE WHICH TABLE (B OR C) APPLIES TO YOUR FLUID AND
FIND THE APPROPRIATE CHARACTERISTICS. DETERMINE THE
TORQUE ADDITIVE AND ADD IT TO THE TORQUE FOUND FOR WATER
ON THE CURVE. IF YOUR FLUID IS A COMBINATION OF BOTH SLURRY
AND VISCOUS MATERIAL. DETERMINE THE APPROPRIATE TORQUE
ADDITIVE FROM BOTH TABLES AND ONLY USE THE GREATER OF
THE TWO TO ADD TO THE TORQUE FOUND FOR WATER.

FIND THE FACTOR FROM TABLE D THAT CORRESPONDS TO THE
TEMPERATURE OF YOUR FLUID AND STYLE OF ROTOR. MULTIPLY
THE STARTING TORQUE SHOWN BY THIS FACTOR TO OBTAIN THE
CORRECTED STARTING TORQUE.

COMPARE THE RESULTS FROM STEPS 1 AND 2. THE REQUIRED
TORQUE WILL BE THE GREATER OF THE TWO.

72X02
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0 50 100 150 200 250 300 350 400
‘DIFFERENTIAL PRESSURE (PSIG)
STARTING TORQUE 168 IN/LB
RPM |NPSHR (FT) SEE GENERAL INSTRUCTIONS
200 9 CURVE BASED ON 70°F WATER
: — 70 DUROMETER --50 DUROMETER
400 1.7 hp = (TQ)H(RPM)
600 2.6 ~ 63025
800 3.4
1000 4.8
1200 6.7

300

250

200

150

100

50

0

TORQUE (IN/LB)

476

.397

.317

.238

159

.079

HP /100 RPM

1)

2)

TABLE A ABRASIVE CONDITIONS MAX. PRESSURE & SPEED

ABRASION |NONE [LIGHT [MEDIUM |HEAVY
MAX. PRESS| 225 | 180 105 45
MAX. SPEED| 1200 | 900 600 300
TABLE B APPARENT VISCOSITY - TORQUE ADDITIVE (IN/LB) & MAX. SPEED
CPS 1100 {1000 {2500 |5000 {10,000 |50,000 | 100,000 | 150,000 | 200,000
TQ | 28| 81 | 124 | 171 | 234 | 486 666 810 924
RPM |1200{1200 1200 | 600 | 320 80 40 30 25
TABLE C WATER BASE SLURRY TORQUE ADDITIVE (IN/LB)
NOTE: MAXIMUM PARTICLE SIZE .3 INCH

SIZE FINE MEDIUM COARSE
% .01 TO .04" | .04" TO .08” |.08" & LARGER

10 68 97 152

30 205 292 456

50 341 487 760
TABLE D STARTING TORQUE MULTIPLIERS (IN/LB) FOR TEMPERATURE

°F

ROTOR 70 1100 | 125150 |175 | 200|230/ 250|275 300 | 350

STD  [1.0[11[1.3]1.6(1.8
SGL U/S 11113116 [1.8]2.0
DBL U/S 1.0{11[1.3[1.6 [1.8

DETERMINE WHICH TABLE (B OR C) APPLIES TO YOUR FLUID AND
FIND THE APPROPRIATE CHARACTERISTICS. DETERMINE THE
TORQUE ADDITIVE AND ADD IT TO THE TORQUE FOUND FOR WATER
ON THE CURVE. IF YOUR FLUID IS A COMBINATION OF BOTH SLURRY
AND VISCOUS MATERIAL. DETERMINE THE APPROPRIATE TORQUE
ADDITIVE FROM BOTH TABLES AND ONLY USE THE GREATER OF
THE TWO TO ADD TO THE TORQUE FOUND FOR WATER.

FIND THE FACTOR FROM TABLE D THAT CORRESPONDS TO THE
TEMPERATURE OF YOUR FLUID AND STYLE OF ROTOR. MULTIPLY
THE STARTING TORQUE SHOWN BY THIS FACTOR TO OBTAIN THE
CORRECTED STARTING TORQUE.

COMPARE THE RESULTS FROM STEPS 1 AND 2,
TORQUE WILL BE THE GREATER OF THE TWO.

73X02
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DIFFERENTIAL PRESSURE (PSIG)
STARTING TORQUE 234 IN/LB
RPM |NPSHR (FT) SEE GENERAL INSTRUCTIONS
200 9 CURVE BASED ON 70°F WATER
— 70 DUROMETER --50 DUROMETER
400 1.7 _ (TQ) (RPM)
HP = Lala M
600 2.6 63025
800 3.4
1000 4.8
1200 6.7

TORQUE (IN/LB)

-

15.55

44.76

-3.97

3.17

2.38

1.59

.793

HP /100 RPM

1)

2)

TABLE A ABRASIVE CONDITIONS MAX. PRESSURE & SPEED

ABRASION |NONE |LIGHT [MEDIUM |HEAVY
MAX. PRESS | 300 | 240 140 60
MAX. SPEED| 1200 | 900 600 300
TABLE B APPARENT VISCOSITY - TORQUE ADDITIVE (IN/LB) & MAX. SPEED
CPS 100 |1000 | 2500 {5000 {10,000 |50,000 | 100,000 || 150,000 | 200,000
TQ |38 {108 [ 165 | 228 | 312 | 648 888 1080 1232
RPM |1200{1200 | 1200 | 600 | 320 80 40 30 25
TABLE C WATER BASE SLURRY TORQUE ADDITIVE (IN/LB)
NOTE: MAXIMUM PARTICLE SIZE .3 INCH
SIZE FINE MEDIUM COARSE
% .01 TO .04" |.04" TO .08” |.08" & LARGER
10 76 109 171
30 229 328 512
50 382 547 853
TABLE D STARTING TORQUE MULTIPLIERS (IN/LB) FOR TEMPERATURE
°F
. 70 {100 [125 /150 {175 | 200]|230{250| 275|300 | 350
STD 1.0(11113]1.6]1.8
SGL U/S 1.111.3[16]1.8[2.0
DBL U/S 1.0[11]1.3]1.6 1.8

DETERMINE WHICH TABLE (B OR C) APPLIES TO YOUR FLUID AND
FIND THE APPROPRIATE CHARACTERISTICS. DETERMINE THE
TORQUE ADDITIVE AND ADD IT TO THE TORQUE FOUND FOR WATER
ON THE CURVE. IF YOUR FLUID IS A COMBINATION OF BOTH SLURRY
AND VISCOUS MATERIAL., DETERMINE THE APPROPRIATE TORQUE
ADDITIVE FROM BOTH TABLES AND ONLY USE THE GREATER OF
THE TWO TO ADD TO THE TORQUE FOUND FOR WATER.

FIND THE FACTOR FROM TABLE D THAT CORRESPONDS TO THE
TEMPERATURE OF YOUR FLUID AND STYLE OF ROTOR. MULTIPLY
THE STARTING TORQUE SHOWN BY THIS FACTOR TO OBTAIN THE
CORRECTED STARTING TORQUE.

COMPARE THE RESULTS FROM STEPS 1 AND 2.
TORQUE WILL BE THE GREATER OF THE TWO.

74X02

THE REQUIRED
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DIFFERENTIAL PRESSURE (PSIG)
STARTING TORQUE 336 IN/LB
RPM |NPSHR (FT) SEE GENERAL INSTRUCTIONS
200 9 CURVE BASED ON 70°F WATER
— 70 DUROMETER --50 DUROMETER
400 1.7 Hp < LTQ) (RPM)
600 2.6 763025
800 3.4
1000 4.8
1200 6.7

600

500

400

300

200

100

0

TORQUE (IN/LB)

.952

.793

.635

.L76

.317

159

HP /100 RPM

1)

2)

TABLE A ABRASIVE CONDITIONS MAX. PRESSURE & SPEED
ABRASION |NONE [LIGHT [MEDIUM [HEAVY
MAX. PRESS | 450 | 360 210 90

MAX. SPEED[1200 | 900 | 600 300

TABLE B APPARENT VISCOSITY - TORQUE ADDITIVE (IN/LB) & MAX. SPEED
CPS 100 {1000 |2500 5000 10,000 {50,000 | 100,000 [150,000 | 200,000
TQ [56 [162 | 248|342 | 468 | 972 | 1332 1620 1848
RPM|1200{1200/1200 | 600 | 320 80 40 30 25

TABLE C WATER BASE SLURRY TORQUE ADDITIVE (IN/LB)

NOTE: MAXIMUM PARTICLE SIZE
SIZE FINE MEDIUM COARSE
% 01" T0 .04" | .04" TO .08" |.08" & LARGER
10 136 194 304
30 410 584 912
50 682 974 1520
TABLE D STARTING TORQUE MULTIPLIERS (IN/LB) FOR TEMPERATURE
o
e 70 {100 {125 {150 [175 [ 200|230 250] 275|300 | 350
STD [10[11[13]1.6[1.8
SGL U/S 1.111.3[16[1.8]2.0
DBL U/S 1.0111 [1.3[1.6 [1.8

DETERMINE WHICH TABLE (B OR C) APPLIES TO YOUR FLUID AND
FIND THE APPROPRIATE CHARACTERISTICS. DETERMINE THE
TORQUE ADDITIVE AND ADD IT TO THE TORQUE FOUND FOR WATER
ON THE CURVE. IF YOUR FLUID IS A COMBINATION OF BOTH SLURRY
AND VISCOUS MATERIAL. DETERMINE THE APPROPRIATE TORQUE
ADDITIVE FROM BOTH TABLES AND ONLY USE THE GREATER OF
THE TWO TO ADD TO THE TORQUE FOUND FOR WATER.

FIND THE FACTOR FROM TABLE D THAT CORRESPONDS TO THE
TEMPERATURE OF YOUR FLUID AND STYLE OF ROTOR. MULTIPLY
THE STARTING TORQUE SHOWN BY THIS FACTOR TO OBTAIN THE
CORRECTED STARTING TORQUE.

COMPARE THE RESULTS FROM STEPS 1 AND 2. THE REQUIRED
TORQUE WILL BE THE GREATER OF THE TWO.

76X02





